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BACHELOR’S DEGREE PROGRAMME

Term-End Examination
June, 2013

ELECTIVE COURSE : COMMERCE
ECO-11 : ELEMENTS OF INCOME TAX

Time : 2 hours Maximum Marks : 50

Note :  Question no. 1 is compulsory and attempt any three
questions from the reinaining questions.

1. Details of Mr.Sharma’s income for the previous 14

year 2011-12 are as follows :

Rs.
Salary 3,25,000
Dearness Allowance
(under terms of
employment) 12,000
Medical Allowance
(actual expenses
Rs.15,000) 20,000
Education Allowance
for two children 12,000

He has got rent free accommodation in Delhi for
which the company pays Rs.10,000 per month as
rent. House is furnished and the rent of furniture
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provided is Rs.1,000 per month duly paid by the
company. One gardner has also been provided
by the company for this house, whose salary is
Rs. 4,000 per month.

The employer spent Rs.9,000 on his refresher
course and paid his telephone bills of Rs.12,000.
Mr.Sharma paid professional tax of Rs.2,000.
Compute his taxable salary for the assessment
year 2012-13.

Explain the salient features of section 80 C of the
Income Tax Act in case of an individual assessee
and state the amount of deduction allowed to a
shop keeper who contributes Rs.25,000 to Public
Provident Fund and pays Rs.15,000 insurance
premium on the life of his wife with a sum assured
of Rs.70,000.

(a) Explain the deductions allowed from
annual value for computing taxable income
from house property.

(b) Mr. Gyaneshwar was sold a house property
on January 1,2012 for Rs.3,00,000. He had
purchased it on July 1,2011 for Rs. 2,00,000
and spent Rs.20,000 in November, 2011 on
its improvement. Compute his taxable
income from capital gain for the assessment
year 2012-13. He had also paid brokerage
of Rs.15,000 on sale of this property.
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4.  Distinguish between Gross Total Income and Total 8, 4
Income, and explain the provisions of Income Tax
Act applicable to income from property held for
charitable or religious purposes.

5. (a) Mr. Rajiv Agarwal is a civil engineer ina 7,5
university. His other incomes, apart from
salary, are as follows :

Rs.

(i) |Money found lying on

the road 9,000
(if) |Income from card

games 2,000
(iii) {Interest on government

securities (Gross) 6,000
(iv) |Gifts received on the

occasion of his mariage

on 15-5-2011 55,000
(v) |Remuneration for

writing articles 1,000
(vi) |Dividents(Gross) on

equity shares of

Reliance India Ltd. 8,000
Calculate his taxable income from other
sources.

(b)  State the position of employer’s contribution
to, and interest on, recognised and
unrecognised provident fund form taxation
point of view.
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6.  Write short notes on any fwo of the following : ¢ ¢

(@) Indexed cost of Acquisition and
Improvement

(b) Partly Agricultural income
(c) Casual Income
(d) Grossing up Interest on Less Tax securities
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6. Trefefed o 9 fa=i @ w wiyw fewfl fafae : 6, 6

(a)
(b)
(c)
(d)
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